
Replacement Parts
Stock #..............Description
DTXC1523.........5x8mm Bearing......................................52 x2pcs
DTXC1569.........6x12mm Bearing....................................53 x2pcs
DTXC3300.........Photon Speed Motor (20 Turn, Single) ....66 x1pc
DTXC6140ST ......Antenna Mount.........................18, 64, 73, J x1pc
DTXC6160.........Antenna Tube.......................................73 x10pcs
DTXC6174.........Front Axle ....................................59, 60, M x2pcs
DTXC6175.........Rear Axle (Steel) .....................................45 x1pc
DTXC6185ST ......Ball Cups..................................................3 x5pcs
DTXC6230.........Ball Pivot ................................................51 x4pcs
DTXC6255.........Ball Stud 3.8mm.....................................55 x4pcs
DTXC6256.........Ball Stud 4.7mm......................56 x1pc, 54 x4pcs
DTXC6289ST ......Battery Holder Set.....10 x1pc, 21, A x2pcs, B x4pcs
DTXC6413.........Painted Body w/Decal Set ............Painted Body,

Decals, 72,T x1pc
DTXC6414.........Unpainted Body w/Decal Set ...Unpainted Body,

Decals, 72,T x1pc
DTXC6442.........Body Clip..............................................65 x10pcs
DTXC6452ST ......Body Mount (Front) ...................16 x1pc, R x2pcs
DTXC6454ST ......Body Mount (Rear) ...........................17, B x2 pcs
DTXC7008.........Chassis (Graphite)...................................38 x1pc
DTXC7016.........Upper Plate (Graphite).............................40 x1pc
DTXC7030.........T-Plate (Graphite) ....................................39 x1pc
DTXC7312 ........Decal Set ......................................................x1pc
DTXC7430.........Differential Set............................26, 28, 29 x1 pc,

30 x2pcs, 27 x4pcs
DTXC7664.........Foam Insert Set ...............................43, 44 x2pcs
DTXC8170.........Kingpin Springs......................................57 x2pcs
DTXC8203.........Kingpins w/E-Clips ..................58 x2pcs, N x4pcs
DTXC8204ST ......Knuckle Arm ......................................19, 20 x1pc
DTXC8263.........Motor Connector Set...................................x2pcs
DTXC8264ST ......Motor Pod Set ...............................4, 5, 6, 7 x1pc,

K, L x2pcs, B x4pcs, J x8pcs
DTXC8350.........Pinion Gear (48 Pitch, 20 Tooth) .........49, O x1pc
DTXC8450ST ......Ride Height Spacers..............23 x2pcs, 22 x4pcs
DTXC8812ST ......Servo Mount Steering...............11 x1pc, B x2pcs
DTXC8854ST ......Servo Saver Set ......................68, 69, 70, Q x1pc
DTXC9229ST ......Main Shock Set..............................31, 32, 33, 34,

48, 49, 54, 56, P x1pc
DTXC9233ST ......Side Shock ..........9, 35, 36, 37, 50, 55, C, B x1pc
DTXC9525ST ......Suspension Arm Set (Front)........12, 13, 14 x1pc,

15, G, B x2pcs, 51 x4pcs
DTXC9668.........Tie Rod Set w/Ball Cups ....................3, 61 x2pcs
DTXC9718.........Tire Set w/Foam Inserts .......41, 42, 43, 44 x2pcs
DTXC9758ST ......Upper Plate Mount (Rear) ...........8, 74, D, F x1pc

B x4pcs
DTXC9830ST ......Wing (Front, Yellow) ....................1 x1pc, B x3pcs
DTXC9831ST ......Wing (Rear, Yellow).....................2 x1pc, C x2pcs
DTXC9865.........Wheel Set ........................................24, 25 x2pcs
DTXC9906.........Wrench/Tool Set ...........................................x1pc
DTXC9947ST ......Wheel Hub Set (Rear) .......................46, 47 x1pc
DTXM1200 ........Sprint ESC....................................................x1pc
DTXZ1097 .........Instruction Manual ........................................x1pc

Hardware
DTXC7630.........2mm E-Clip............................................N x10pcs
DTXC8240.........3mm Nylon Insert Locknut ....................D x10pcs
DTXC8640.........3x8mm Socket Head Cap Screws.........K x10pcs
DTXC8647.........3x8mm S/T Screws ...............................C x10pcs
DTXC8648.........3x10mm S/T Screws..............................J x10pcs
DTXC8658.........3x3mm Set Screws ...............................O x10pcs
DTXC8676.........3x15mm F/H Screws .............................F x10pcs
DTXC8677.........3x30mm F/H S/T Screws ......................G x10pcs
DTXC8678.........3X8mm F/H S/T Screws........................A x10pcs
DTXC8679.........3x10mm F/H S/T Screws ......................B x10pcs
DTXC9763.........3x8mm Washer......................................L x10pcs
DTXQ0221 ........2.6x10mm S/T Screws ..........................Q x10pcs
DTXQ0225 ........3x15mm S/T Screws .............................R x10pcs
DTXQ0414 ........4mm Flanged Lockunut ........................M x10pcs

Optional Parts
DTXC7982.........Aluminum Heatsink Motor Mount (Blue)
DTXC7983.........Aluminum Heatsink Motor Mount (Purple)
DTXC8996.........Aluminum Oil-Filled Main Shock
DTXC9143.........Front Spring Set (Hard & Soft)
DTXC9144.........Spring Set for Aluminum Main Shock (Hard & Soft)
DTXC9749.........Turnbuckle Tie Rods w/Ends
DTXC9773.........Wing Set (Blue)
DTXC9774.........Wing Set (Black)
DTXC6175.........Aluminum Rear Axle
DTXC6190.........Ball Differential

To order replacement parts or to send your model in for repairs
covered under warranty, you should send your model to
DuraTrax’s authorized U.S. repair facility:

Hobby Services
1610 Interstate Drive, Champaign, Illinois 61822

Attn. Service Department
Phone: (217) 398-0007  9:00 A.M. - 5:00 P.M. Central Time M-F

E-Mail: hobbyservices@hobbico.com

ST indicates Stress-Tech™ part

Hardware Chart

Other Products Available from DuraTrax

IntelliPeak™ Pulse Chargers give each battery a full
charge, whether it’s a NiCd or a NiMH pack. Use at home
or at the track, to charge, discharge, or even cycle a pack
automatically. 1-year warranty.

DTXP4100 AC/DC Pulse Charger,
DTXP4110 AC/DC Mini Pulse Charger,
DTXP4120 AC/DC Deluxe Pulse Charger,
DTXP4130 AC/DC Digital Pulse Charger

Race economically with the Shark 6-cell 1500mAh sport
pack (DTXC2030)...or go for explosive output current
and all-out speed with Sanyo 1900SCRs (DTXC2130)!
Both are assembled and ready to run.

Race economically with the Shark 6-cell 1500mAh sport
pack (DTXC2030)...or go for explosive output current
and all-out speed with Sanyo 1900SCRs (DTXC2130)!
Both are assembled and ready to run.

Pit Tech™ Deluxe Car Stand
It's a convenient work station for your cars — anywhere
you want! The sturdy stand disassembles easily and
stores flat...a space-saving feature for carrying in a
toolbox or field bag. The plate rotates for all-sides access,
and built-in holes keep shocks handy when rebuilding. An
extra-large par ts tray in the base offers added
convenience. Molded rubber inserts grip chassis securely.
DTXC2370 Pit Tech Deluxe Car Stand (Blue)
DTXC2371 Pit Tech Deluxe Car Stand (Orange)
DTXC2372 Pit Tech Deluxe Car Stand (Purple)
DTXC2373 Pit Tech Deluxe Car Stand (Green)



DTXZ1098 For Kit DTXC0012/DTXD12**


